

# **SCENARIOS – SCENARIO 1.**

### MEMBER BUYING AN ECONOMY BASIC TICKET TO LHR

John Smith is a MEMBER and is travelling in ECONOMY BASIC, Malta to LHR			
Base Fare	€ 106	€ Portion Loyalty	
Economy Basic Reward	1.50% of Base Fare	€ 1.59	
Tier1(Member)Bonus SkyBux %	0% of Fare Family Reward	€0	
Total		€ 1.59	

- Total Amount of coins awarded for this example: €1.59 \* 100 = 159 SkyBux
- Total Amount of Status Points awarded: 2.5% of €106 \* 100 = 265 Status Points



# SCENARIOS – SCENARIO 2 + BAG.

### MEMBER BUYING AN ECONOMY BASIC TICKET TO LHR PLUS EXCESS BAGGAGE

John Smith is a MEMBER and is travelling in ECONOMY BASIC, Malta to LHR			
Base Fare	€ 106	€ Portion Loyalty	
Economy Basic Reward	1.5% of Base Fare	€ 1.59	
Tier 1 ( Member) Reward	0% of Fare Family Reward	€0	
20kg Excess Baggage	2% of €25	€ 0.50	
Total		€ 2.09	

- Total Amount of coins awarded for this example: €2.09 \* 100 = 209 SkyBux
- Total Amount of Status Points awarded: (2.5% of €106) + (2.5% of €25) \* 100 = 328 Status Points

NB: SkyBux % on KMMA in-house ancillaries is fixed at 2%



# **SCENARIOS – SCENARIO 3.**

#### TRAVELLER BUYING AN ECONOMY PLUS TICKET TO LHR

Sam Bell is a TRAVELLER and is traveling in ECONOMY PLUS, W Class, Malta to LHR			
Base Fare (W)	€ 106	€ Portion Loyalty	
Economy Plus Reward	3% of Base Fare	€ 3.18	
Tier 2 ( Traveller) Reward	4% of Fare Family Reward	€ 0.1272	
Total		€ 3.3072	

- Total Amount of coins awarded for this example: €3.3072 \* 100 = 331 SkyBux
- Total Amount of Status Points awarded: 2.5% of €106 \* 100 = 265 Status Points



# **SCENARIOS – SCENARIO 4.**

### EXPLORER TIER BUYING AN ECONOMY FLEX TICKET TO LHR

Base Fare (W)	€ 106	€ Portion Loyalty
Economy Flex Reward	4.5% of Base Fare	€ 4.77
Tier 3 (Explorer) Reward	8% of Fare Family Reward	€ 0.3816
Total		€ 5.1516

- Total Amount of tokens awarded for this example: €5.1516 \* 100 = 515 SkyBux
- Total Amount of Status Points awarded: 2.5% of €106 \* 100 = 265 Status Points



# **SCENARIOS – SCENARIO 5.**

### PIONEER BUYING A BUSINESS BASIC TICKET TO LHR

James Taylor is a PIONEER and is travelling in BUSINESS BASIC, Malta to LHR			
Base Fare	€ 392	€ Portion Loyalty	
Business Basic Reward	5.25% of Base Fare	€ 20.58	
Tier 4 (Pioneer) Reward	14% of Fare Family Reward	€ 2.8812	
Total		€ 23.4612	

- Total Amount of tokens awarded for this example: €23.4612 \* 100 = 2346.12 SkyBux
- Total Amount of Status Points awarded: 2.5% of €392 \* 100 = 980 Status Points